— = -
REE 2 KIZAR BHAE FHSEE
BAR:$f1 & A& B
| ER%A
A B B HALRX) ® &
90 | 100| 110| 120|130
2,400 M M
* g R
w 140| @150L1 (345
2,900 A KRR BBYES H
100| 110|120 130
2,000 M M
FgXRY
- 140| @150L1E (4T
2,400 H NEERLHBYET &
90 | 100| 110| 120|130
4,000 M H
AEYY
140 150
4,800 M H
=l 700 H 21— HA(X !
jj" % = N
ST | 10 | v :
Jawys 3,700 [ H
& ® # !

OFAR. EAICRHE-E -4 GFHEEIRATIL
ORMIATRELSELLEY
OHERNFLDAITHE CHFRNITTIL

REFIPIELBITHALEEEIELBLET

BARHE:EA208 | BI%LA:HA28H

XE25|% LB :#A5H

X21BLBRDHAHEEA2BDEELEGYET

51%LE |

/

CUAATHOFCEXT CULPERFFO BN IE

_ = 4
mrE| (RIEMR AR snem
X851 )= | H
#H BER4A
T B B HAX) ® &
90 | 100| 110|120 130
2,400 M F
* B R
- 140| @150L1E (F4:5%
2,900 A KEEETABYET E
100| 110|120 130
2,000 M F
IR
8 140| @150LL L (E4E
2,400 A KEEETABYET K
90 | 100| 110| 120|130
4,000 M H
AEYY
140 150
4,800 M H
= 700 H 21— HA(X !
jj“ % = o~
S HHEE 1 1200 | 7U—H4X M
w4y 3,700 [ F
& & # !

| 38 | ~ | s#LA |

s | oegse | |




